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Figure [S1]. Rietveld refined fit of the Na,_,,;)Fe, .Mn, 3O, model to the initial in situ synchrotron XRD
dataset, with a 100 preferred orientation term (March-Dollase). Data are shown as crosses, the
calculated Rietveld model as a line through the data, and the difference between the data and the model
as the line below the data. The vertical reflection markers are for P2 Na, ,,,)Fe,.Mn, 3O,. The insert
shows the fit in the region 13 < 26 < 22 without (left) and with (right) the 100 preferred orientation term.



Table S1. Refined crystallographic parameters for Na, ., Fe,.Mn, sO..

Isotropic
Atom Wyckoff x y z SOF? ADP?
(x100 A%
Na; 2 ) ) 0.25 0.26(1) 6.7*
Na, 2 1/3 2/3  0.75 0.48(1)  2.2*
Mn 2 o o o 0.8 2.9*‘#
Fe 2 o o o 0.2 2.9%"
@] 4 1/3 2/3  0.0958(8) 1 4.3%

) Atomic displacement parameter (ADP), site occupancy factor (SOF). * Refined alternatively to SOFs
and refined and fixed. ¥ Constrained to be equal. Space group P6,/mmc, 31 refinement parameters, x* =
1.95, R, =3.02 %, wR;, = 4.10 %, a = 2.9176(1) A, c =1.1589(2) A.



